


 

2 3A5472G

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 5

 . . . . . . . . . . . . . . . . . . . . . . 5

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 6

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . 7

  . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 8

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 8

  . . . . . . . . . . . . . . 9

 . . . . . . . . . . . . . . . . . . . . . . . . . . 9

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 9

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 9

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 9

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 10

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . 12

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 13

 . . . . . . . . . . . . . . . . . . . . . . . . . 13

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 13

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 14

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 16

 . . . . . . . . . . . . . . . . . . . . . . . . . . . 17

 . . . . . . . . . . . . . . . . . . . . . . . . . . . 20

 . . . . . . . . . . . . . . . . 22

 DataTrak  . . . . . . . . . . . . . . . . . . . . . . 23

 24x550 24x552 19C374 
 19C375 . . . . . . . . . . . . . . . . . . . . . . . . . . 23

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 24
XL 6500 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 24

XL3400   . . . . . . . . . . . . . . . . . . . . . . . . . 26

17V344 - 17V345 - 
 . . . . . . . . . . . . . . . . . . . . . . . . . . . . 28

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 30

XL6500   . . . . . . . . . . . . . . . . . . . . . . . 32

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 32

XL3400   . . . . . . . . . . . . . . . . . . . . . . . 33

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 33

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 34

 65   . . . . . . . . . . . . . . . . . . . . . . . 35

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . 36

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 36

311762 Xtreme® 

311825 Dura-Flo™ 

334645 King Sprayer 

334644 XL™ 10000 

313541 DataTrak® 







3A5472G 5

Check  (ID)  6  X L
6 5 D 0  XL  (XL)  6500  (6 5)  (D)  (0)

  DataTrak 

XL 6 5 D 0

XL
XL 

65 6500 
10.38 264 

D 0

34 3400 
7.5 190 

L “D” 1

R

 1-1/4 
2  - 

 XM



 

6 3A5472G

A
B 3/4 1 

C
D 2
E
F 2  
G
H
J DataTrak 

K 
L 
M 
N 800 363 
P  
CC 
EX1 1 1/4 
EX2 D  L 



3A5472G 7

XL 

XL3400  XL6500  NXT3400  NXT6500 
XL 

 NXT 

 Merkur® 

 (L) 

 (F)

•

•

 9 

 4-5 27.5–34.4 0.27–0.34

 (A)  (E)  NXT 

,  (M)

XL  

• DataTrak™ 

• DataTrak™  









3A5472G 11

 (E)
 (C) 

 (M)



 

12 3A5472G

•

•

•



























3A5472G 25

XL6500 

1 17V316 XL6500 1

2 17M826 1.375 1

3 - - - - - 1.375 1.625 1

4 17U129 U 1.375  
x 1.687 

1

5 17U128 1
6 17N415 O  178 2

7 - - - - -  1.38 1
8 17N950 1
9 277366 1
10 17V320 XL6500 1
11 NXT106 1
12*† 15G747 1
13 122675 O  10.125 1
14 17V314 6500  

 15

1

15 120135 6500 3
16 17V001

1/2 x 3/16
2

17 17V318 XL6500 1
17Z481 XL6500

21 17R716 2
22 24Z589 XL6500 1
23 17N539 , 1
24 17M850 , 2
25 24Z591 XL6500 1

17X462 XL 1
26 107542 2
27 109114 8
28 295447 1
29 17R950 1
30 273276 XL 1

17V344 XL6500  XL3400 1
17V345 XL65/XL34 1

31 119050 6

32 17S075 1
33 17M851 2
34 24Z347 2
35 17S929 2
36 117026  m5 x 12 8
37 17R463

XL6500 
1

38 17R464
XL6500 

1

39*† 15F772 1
39‡ 16D001 1
40 NXT103 sst 1 9/16 1
41 111307 1
42 116343 1
43 127463 2
44 17M776 xl6500 1
45 - - - - - 1
* 258669 1
† 26C331 1
56 15F674 1
57 108014 O 1
58 C20987 O 1
59 15F073 1  x 

3/4 

1

61 117379 m8 x 25 2
62 24Z550 2
63 115671 1/8 npt x 1/4 2
65*† 273224 1
68 15V719

#8-32
1

72 162440 O 1
73 17T414 1
74 18A843 XL 1



*  XL65D1 

†  XL65D2 

‡  XL65*0 

  17V344  17V345 





3A5472G 27

XL3400 

1 17V315 XL3400 1

2 17M826 1.375 1

3 - - - - - 1.375  1.625 1

4 17U129 U  1.375  x 
1.687 

1

5 17U128 1

6 17U130 O  166 2

7 - - - - -  1.38 1

8 17N950 1

9 277366 1

10 17V319 XL3400 1

11 15G478 1

12*† 15G747 1

13 122434 O  1

14 17V313 3400  
 15

1

15 120418 3400 cyl 3

16 17V002 1/2 x 
3/16

2

17 17V317 XL3400 1

17Z982
21 17R716 2

22 24Z966 XL3400 1

23 17N539 , 1

24 17M850 , 2

25 24Z591 XL6500 1

17X462 XL 1

26 107542 6

27 109114 8

28 295447 1

29 17R950 1

30 273276 XL 1
17V344 XL6500  XL3400 1
17V345 XL65/XL34 1

31 119050 6

32 17S075 1

33 17M851 2

34 24Z347 2

35 17S929 2

36 117026  M5 X 12 8

37 17T943 XL3400 1

38 17T944 XL3400 1

39*† 16D001 1

40 NXT103 sst 1 9/16 1

41 111307 1

42 116343 1

43 127463 2

44 17M776 XL6500 1
45 - - - - - 1
* 258669
† 26C331
56 15F674 1

57 108014 O 1

58 C20987 O 1

59 15F073  1  x 3/4 1

61 117379 m8 x 25 2

62 24Z550 2

63 115671 1/8 npt x 1/4 2
65*† 273274 1
68 15V719 #8-32 1
72 162440 O 1
73 17T414 1
74 18A843 XL 1



*  XL34D1 
†  XL34D2 
  17V344  17V345 





3A5472G 29

301 - - - - - XL 1

302 115671 2

303 24Z604 1

304 - - - - - XL 1

305 - - - - - XL 1

306 - - - - - U 2

307 - - - - - 1

308 - - - - - PIN 1

309 - - - - - 1

310 - - - - - 1

313 17N630 XL 1

314 17V963 XL 1

16X648 XL 1

315 - - - - - M5 2

316 17N617 XL 2

317* 104010 O 2

318* 154741 O 2

319 17S646 PIN XL 2

320 557832 2

321 - - - - - 1

322* 104130 O 1

323 - - - - - 1

324 112903 2

325 117026  M5 X 12 2

326 - - - - - 1

327 - - - - - 1

328 - - - - - 1

*  O  24X563 



 

30 3A5472G

 1: XL 

NXT103 (40)

6500: 17V320
3400: 17V319

/

15G478 (11)

15G747 (12)

- - - - - (4)

6500: 17V957
3400: 17V958

- - - - - O  (2) (6)

155685 O  (62x)

- - - - - U (62x)

154741 O  (62x)

197650 O (62x)

- - - - - O (13)

- - - - - U (4)

- - - - - (2)

- - - - - (5)

- - - - -  (2) (24)

- - - - - (16)

24X565 (29)

17M851 (33)

17N539 (23)

6500: 17V316
3400: 17V315

- - - - - (9)

- - - - - (3)

- - - - - U (4)

- - - - - (2)

- - - - - (5)

- - - - - (1)

6500: 17V318
3400: 17V317

15F674 (56)

- - - - -

- - - - - (16)

6500: 17V314
3400: 17V313

- - - - - O (6)

- - - - - (15)

- - - - - (14)

17V322

17V963 (314)

- - - - - M5 (2) (315)

- - - - -



3A5472G 31

 2: XL 

 3: 

17V344

- - - - - XL (30)

17R950 (29)

24X563  O 
104010 O  (2) (317)

154741 O  (2) (318)

295640 O  (1) (313)

104130 O  (1) (322)

17V347 /
- - - - - (313)

- - - - - (313)

295640 O (313)

16X648 (314)

- - - - - M3 (2) (315)

- - - - - M5 (2) (315)

17R950 (29)

24X567

- - - - - (307)

- - - - - (305)

- - - - - (310)

- - - - - (309)

- - - - - PIN (323)

24X568 DataTrak 
104130 O (322)

- - - - - (321)

- - - - - (323)

24X569

- - - - - (304)

- - - - -  U (306)

24Z604 (303)

26C331 XM

258669 HLS 

24X550 DataTrak XL 

24X552 DataTrak XL 

17V322  

19C374 DataTrak XL Series B 

19C375 DataTrak XL Series B 







 

34 3A5472G

 XL 

100 /
7 - 100 psi

0.7 7 
0.5 - 0.7 0.5-7 

0.0016 325 mesh) 40  

3/4 npsm(f)  1  

32° - 140° F 0° - 60° C

4.75 121 

4.90 125 

60 /

1-1/4 npsm(f) 

XL 6500 

84.54 in 545 

83.06 in 536 

10.375 264 

69 31 

XL65DX

 -  70 /  
0.48 4.8  ISO -9614-2  15 /

96 

 -  ISO-9614-2  
3.28 1 

81.48 

XL65Lx

 -  70 /  
0.48 4.8  ISO -9614-2  15 /

92 

 -  ISO-9614-2  
3.28 1 

77.48 

XL 3400 

44.18 in 285 

42.7 in 276 

7.5 191 

50 23 

XL34Dx 

 -  70 /  
0.48 4.8  ISO -9614-2  15 /

91.3 

 -  ISO-9614-2  
3.28 1 

76.78 

XL34Lx

 -  70 /  
0.48 4.8  ISO -9614-2  15 /

82.1 

 -  ISO-9614-2  
3.28 1 

67.58 





Graco 

 This manual contains Chinese. MM 3A5423

Graco Minneapolis

GRACO INC. AND SUBSIDIARIES • P.O. BOX 1441 • MINNEAPOLIS MN 55440-1441 • USA
Copyright 2020, Graco Inc.  Graco  ISO 9001 

www.graco.com
 G 2021  5 

 (2) 

 www.graco.com

 www.graco.com/patents

612-623-6921  1-800-328-0211  612-378-3505




